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EH16EE I OLOTREIF—

ERRI6ERE ERITEE A(16-17)
ST ARE(n=26) 12VFO—LEE(n=52) ipfE |IT AE#(n=26) M0-IE(n=52) iplE |pliE
Fg5 [ 577 £ 45% 517 % 4411.00 587 * 45 587 = 4411.00][1.00
BMI 230 = 281 238 = 301024 228 + 271 235 *= 3.01027]0.79
SBP |1360 = 16.0} 1343 = 18.310.69 1304 = 157! 1346 = 18.7:0.33 [0.10
DBP | 798 =+ 113} 800 = 11.61i0.95 772 = 106! 794 = 115:0.41|0.34
HDL | 624 = 1471 644 = 1321053 594 = 1571 602 = 16.010.83 [0.48
LDL [1456 =+ 3251 1483 = 29.0:0.71 1408 = 2991 1420 = 29.210.86 [0.74
TG 129.7 =+ 5341 1322 =+ 7031088 1198 = 706! 1135 =+ 53.8 {0.67 [0.55
mmfE | 948 + 246! 949 =+ 2161098 919 + 107! 929 =+ 13.810.77 |0.92
HbAlc| 5.15 = 060} 506 = 0.7510.58 513 = 044 521 = 049049 |0.85
JREg | 438 + 0981 441 + 1.18!0.91 442 += 099! 437 = 1.1010.85]0.59
TERC18EE A(17-18)t A(16-18)
T AEE(n=26) 11— E£(n=52) ipflE |plE ol
FHh | 597 £ 45 597 = 44i1.00 [1.00 1.00
BMI 227 = 30! 234 = 3.0!028 [0.99 0.85
SBP [129.7 + 1391 1319 * 18.210.59 |0.60 0.27
DBP | 764 =+ 109} 789 =+ 10.310.33 |0.91 0.32
HDL | 592 =+ 154} 604 *= 16.3:0.73 [0.79 0.70
LDL [128.7 =+ 2521 1379 += 28.6:0.17 [0.20 0.31
TG 1255 =+ 98.1} 1146 =+ 53.7:053 [0.78 0.49
m#E | 945 += 150 916 += 11.810.42 [0.34 0.79
HbAlc| 532 =+ 046! 521 =+ 0411031 |0.01 0.92
FREE | 443 + 096 458 + 1.22:i057 [0.16 0.44
TER17EEEZOLDOTREIS T —
ERITEE TRk 18EE A(17-18)
I AEE(n=22) 1aytO-LE(n=44) ipfE |+ AEE(h=22) IOV EE(n=44) ipfE |pfE
F#h [ 595 £ 351 594 * 34094 609 = 36! 604 = 3.3i0.63[0.63
BMI 255 + 35! 248 = 311043 244 = 331 247 = 2.910.68 |0.04
SBP (1418 =+ 109} 139.1 = 19.01055 1323 = 1231 1394 =+ 16.2 10.07 [0.05
DBP | 821 =+ 102 794 = 991031 785 + 711 814 %= 8410.18]0.05
HDL | 59.1 = 120} 536 = 1251009 547 + 1471 550 %= 1231092 |0.12
LDL [145.0 =+ 272} 151.7 *= 24.310.32 1349 =+ 2331} 1527 =+ 285 10.20 [0.18
TG 150.2 + 60.8: 181.8 = 77.5:0.10 139.7 = 559! 1599 *+ 81.5:0.33 [0.80
m¥E |1004 = 266! 1068 = 37.710.57 100.3 += 2541 1060 = 27.210.49 |0.56
HbAlc| 593 =+ 1211 565 *= 1.1710.37 588 = 120! 562 = 1.0110.36 |0.54
FREE | 490 + 1.19% 509 + 1221055 500 + 1.321 493 =+ 1.1810.85 ]0.39




